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This question paper comprises five Sections - Section A, Section B, Section C, Section D
and Section E. All questions are compulsory.

T35 & Qi @<l § [9fSid e 11 & - @e &, @@ @S, @STia @S| T4t
797 SAard & |

Section A - Question No. 1 to 21 are Multiple choice questions, carrying 1 mark each.

TS - & F I G&Ir1 921 TF Tgladbedid YHR & 97 &, J3F Jo71 3% F &1

Section B - Question No. 22 to 27 are short answer type questions, carrying 3 marks each.
Answer to these questions should not exceed 60 to 80 words.

TS - T H gvT G122 T 27 7% TR JFR & JoT & | Teaib J973 37 F &1 JAF F97
H1 I 60 T 80 I G Y% T8 &1 AeT

Section C - Question No. 28 to 30 are Long answer type questions, carrying 8 marks each.
Answer to these questions should not exceed 300 to 350 words.

TS - T4 G997 G&A128 T30 T 153709 GhR & G978 | Tk GI78 31 H1 &1 TP T
H7 ST 300 T 350 5 G 37 781 81 TR

Section D - Question No. 31 to 33 are Source based questions, with three sub questions and
carrying 4 marks each.
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HE
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T 3% T T &1
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SECTION - A
TS-F
MULTIPLE CHOICE QUESTIONS 21x1=21
wg faehedta a9

1.  Fillin the blank in the statement given below with the help of appropriate option. 1

Evidence of Land grants has been found in the inscription of early centuries of

common Era. Most of these inscriptions are written in language.
(A) Prakrit (B) Pali
(C) Hindi (D) Sanskrit

Sfad faskey &1 ¥gEar € feu 1w w97 # i w9 &1 gfd wifsw)
ST Wi STRIYR SraTfeqdl o e SAfveral H iR o Jam fifet 7| 9% stfeenier stfyera
o # fae T

(A) wFd (B) ifel
(C) fe<i (D) G&ha

<

2. Fillin the blank in the statement given below with the help of appropriate option. 1

Mughal state encouraged peasants to cultivate such crops which brought in more
revenue. Crops such as cotton and sugarcane were

(A) Mugaddam (B) Khud-kashta

(C) Pahi-kashta (D) Jins-i-kamil

3fad foereq st TRl § fou 7T oM H b T ki gfd wifsie |

AT T4 A fREM! ol UHT Bl ol Wt i o forg Fiedfed foran =4 e1feres Y unst

B G | HE 3R T S A dgada off |
(A) A (B) We-HhIed
(C) uifg-<hred (D) S9-T-hIfHe
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3. There are two statements marked as Assertion (A) followed by a statement of
Reason (R) is given. Choose the correct answer from the options given below :

Assertion (A) : The Vijayanagar Kings claimed to rule on behalf of the god
Virupaksha.
Reason (R): Virupaksha, the guardian diety of the Vijayanagar kingdom

was recognized as a form of Vishnu.
From the above Assertion and Reason, find which one of the following is true :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) (A)and (R) both are true but (R) is not the correct explanation of (A).
(©) (A)is correct, (R) is incorrect.

(D) (A)isincorrect, (R) is correct.

2 <1 e PR (A) 3R ST (R) % &9 H fqU 10 7 | el o0l afeu oIk & fased
1 = HITSC |

AR (A): TSR o T 7 =i &t off foh Wi faewer & gfafafy & IR )
e FIE T

&ROT (R): ISR 9o o Giereh qodl faediet shl wirer forsu] <1 Uk &9 911
DRI

ST A 3R HROT o AT FHATArEd § § SH-91 98 © 2

(A) AHHYT (A) T HRUT (R) S T & T hROT, AFURAT i T&l e ¢ |

(B) SRR (A) T hIUT (R) T Wl & U] ShINUT, TR i Tl AT e ¢ |
(C) AfYeRer (A) WEl § T8 IUT (R) 7o |

(D) 3R (A) TeTd & T RUT (R) Tl T |

141-HIS 4



4.

Read the following statements regarding the structure of the stupa and choose the

correct options.

(i) The stupa originated as circular mound of earth, later called anda.
(i) Above the anda was the harmika, the abode of the gods.

(iii) A yashti was often surmounted by a chhatri or umbrella.

(iv) Yashtiarose from the harmika.

Which of the following statements is/are correct ?

(A) (i) and (ii) only

(B) (ii), (iii) and (iv) only

(©) (i) and (iii) only

(D) (ii) and (iv) only

WU i 3TRfd o Gy H FAfafad wel sl Tga Wat fashed 1 997 Fifv |
(i) U I 3cafd geaft & weh Mol fhgl o Jiel 9 g8 59 ae ¥ sie &7 T
(ii) 3T % SR SFHH Bt off S T F R G|

(iil) afte W 9= S 0 S ot |

(iv) =fte it | frererdt ot |

o o

i § 9 A 9w 92 8/8?
(A) Faa (i) 7 (i)

(B) <had (i), (iii) o (iv)

(C) hadt (i) 9 (iii)

(D) had (ii) 9 (iv)

1
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5. There are two statements marked as Assertion (A) followed by a statement of
Reason (R) is given. Choose the correct answer from the options given below :

Assertion (A) : Archaeologists suggest that in the north-eastern corner of the
urban core of Vijayanagara empire rich traders lived.

Reason (R): Numerous tombs, mosques and fine Chinese porcelain have
been found in Vijayanagara empire.

Options:

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(C) (A) is correct, but (R) is not correct.

(D) (R)is correct, but (A) is not correct.

T T U ATHERA (A) T HIRUT (R) F Y H ST 7T T | Hoi 1 Teh TEl foemeq
I Hifl |

ARUHAT (A) RIdcAroRl ol eidl  foh TSR Sea & 98l el o Sw-Jat
HH W ITHR AR W T |

IUT (R) : fISE TR A | det A7 | Hehelk, ARG ud aitsha =it figt

I T 7|
faerea :

(A) AHYT (A) T HIOT (R) ST T8l & T wRUT (R) IR (A) 1 Gl A1
FIA T

(B) 31U (A) TS hIUT (R) SHI T & T=q T (R) TR (A) Tl Tl AT
T ot ® |

(C) AHYT (A) TEI T T ROT (R) T Tl & |
(D) WO (R) T & TR ke (A) T &l |
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6.

This foreign traveller had given the following indications in his travelogue
regarding India. By reading these hints identify the traveller and choose the correct
options:

(i) The evils-effects of the crown ownership of land.
(i) There is no middle state in India.

Options:

(A) Al-Biruni

(B) Bernier

(C) Ibn Battuta

(D) Mahmood of Gaznavi

39 faeeft Il 7 o9 ITA-gidl § 9Rd & Ged # f=fafad deha fU & | 37 Hehdl @l

TG 9 AT i TEaH ich 3rad [dehed 1 oI il |

() 9 R TowE @i gifwns T
(ii) wRa o " T feafa & o T2 7
forene

(A) 3TeI-fore

(B) @R

(©) == wq

(D) HEHT TSIl
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7. Lookat the statue carefully and identity its ruling dynasty from the given options. 1

(A) Chola (B) Yaudheya
(C) Kushana (D) Gupta
o= # < A o ergee ST Ud fSU T faenadl # SHeh ITEhas] i Wel Tea hifsg |

(A) = (B) i

(©) Fu™ (D) T«
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Note : The following question is ONLY for the visually impaired candidates in
lieu of question number 7.

Who repaired the Sudarshan Lake, an artificial reservoir ?
(A) Kushana king Kanishka (B) Sakaking Rudradaman
(©) Kannauj ruler Harsha (D) Chandraguptal

e ; frafafed ye Faa ghearua whenfeft 3 7o §en 7 % o | T
Tk i ST ges eiiel b1 g oo forem shtamn o ?

<

(A) U AHE hiTeh (B) Th I;MHF ELQHA

(C) ISt A 7 (D) =& v

8.  Which of the following statement is correct with reference to the traveller’s
account ?

(A) Slaves were notsold openly in the markets.

(B) When Ibn-Battuta reached Sindh, he purchased horses only.
(C) Theslaves were also engaged for domestic work.

(D) There were no female slaves.

T o foraor o dew # fre=fafed § 9 6 91 see w8t 82
(A) T IR H GeleT™ & o S 9 |

(B) & T oIl e Ugan q ST helct =S & TS |

(C) <THi bl =e] k¥l | I S o |

(D) Hfeemd < % &9 H we Te el off |

9.  Which of the following statement is correct regarding the followers of Buddha ?
(A) Mahapajapati Gotami persuaded Buddha to allow women into the sangha.

(B) Many women who entered the sangha became teachers of Dhamma and went
on to become theris.

(C) They did notinclude kings and slaves.
(D) Allwerenotregarded as equal.

IS & ST & Hoy § fAfafad 8 9 oF 91 7 @l § 2

(A) TRTISTId! T = 5 1 Afcantsii sl 99 § Fow1 <o o forg it foha |
(B) & YA A el e Higamd ey ot frfersht s |

(C) o =Tt iR Sl I wfhel T8l i 9 |

(D) gt =l FHE T THAT S0 o |
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10. Mahatma Gandhi with charkha has become the most abiding image of Indian

nationalism. Gandhiji encourages charkha and spinning because : -

(A) Itsymbolised truth.

(B) Itsymbolised non-violence.

(©) Itsymbolised to break the boundary between mental and menial labour.
(D) Itsymbolised equality between rich and poor Indian.

TG & TN HETCHT Tl YRS TS oht Fellfereh Tl T s 7T | HeleHT T = =R
T & Yd e Rl Yiedred fohan iifer :-

(A) I€ T I Ydleh o1

(B) &g AfEH =T Yeileh |

(C) o8 AT g9 IR AR o9 1 FaR i dreq § Heg il T

(D) ¥ 3THR IR TRIa IRAE! ! T T Tedlh < |

11. Match the following Column I with Column Il regarding archaeological finding

of Harappa with archaeological sites and choose the correct option :
ColumnI Column II

(a) Lothal (i) Ploughed field

(b) Kalibangan (i) Dockyard

(c) Shortughai (iii) Terracotta replica of a plough

(d) Banawali (iv) Traces of canal found

T FoIT o TS ST TRl UIg T8 Ufeiaeh a&qei % ge H W I o faam WY 11

T Ik Tet fIshed 1 994 Hifeg |
W 1 T I

L (i) FAgLEd

(b) hreAts (ii) ST

(c) Vg (iif) 7t % 1 gL ESA

(d) et (iv) e e

Options / fa&ea :
(a) (b) (c) (d)

(A) (i) (i) (iv) (1)

(B) (i) (1) (iv) (i)

(©) (i) (i) (1) (iv)

(D) () (iv) (iii) (i)
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12. Which of the following statements regarding gotras is NOT correct ?
(A) Each gotra was named after a Vedic seer.

(B) All those who belonged to the same gotra were regarded as descendants of
their Vedic Seer.

(C) Women adopted the gotra of their husband after marriage.

(D) Members of the same gotra could marry.
= & gedl § frfafad # 9§ o1 1 %o 91 9@ < ?
(A) = % AW dfesh Y o T W™ T A |

(B) &t @ S Uk &I IS o &, 3% oGk I 1 AL HAT ST o |
(C) wfEemd et 3 =g 79 T o1 W 379 it €1

(D) 31 T3 I k1S Wt HeH foramg ot Tkl o |

13. Choose the Incorrect pair.

(A) Nana Saheb - Nagpur
(B) Bahadur Shah ZafarIl -  Delhi

(©) Kunwar Singh - Bihar
(D) Birjis Qadar - Lucknow
TTAd THA hi 989 i |

(A) T e - TR

(B) WRIGL IME ST 11 S |

(©) F=fog - R

(D) forfsE =g - A
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14. Consider the following statements regarding Saint Kabir and choose the Incorrect

15.

option.

(i) Verses of Kabir are compiled in three distinct traditions.
(ii) Kabir’s poems are available only in the Urdu language.
(iii) Kabir used many traditions to describe the ultimate reality.

(iv) Kabir called ultimate reality as Allah, atma, alakh, nirakar, etc.

Options:
(A) only (i) (B) only (ii)
(€) (ii) and (iii) only (D) (i) and (iii) only

Td HER o GeH | TTeTd Y-/ HAA i Ted Hhich Fel fdehed o1 I HifIg |

(i) HER F BT 4 Ter-TerT aRufed] § Hehferd ¥ |

(i) TSR i Hfaar wact 3¢ Ao § I T |

(iii) SH = ILH T A1 U A & 0 g qfurfesi s g&ammet foam

(iv) R = T T Tl 3TeelE, STEA], 370 iR FUwR 87fe wear |
faerea :

(A) had (i) (B) <had (ii)

(C) <k (i) 9 (iid) (D) ke (i) o (iii)

Who among the following is credited with bringing the ruins of Hampi to light ?

(A) Krishna Deva Raya (B) Colin Mackenzie

(C) Rama Raya (D) Marshall

frefafad o 9 ford g0t & R 1 YRt § @ &1 99 T s 8 2
(A) PR T (B) whifer Hepsit

(© T (D) AR
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16.

17.

Who among the following noted Indian Sanskritist led the project of preparing
critical edition of the Mahabharat ?

(A) Ved Vyas (B) V.S.Sukthankar

(C) Ganesha (D) B.B.Lal

Frefafed o | fore TRdTT S&hd foqam A TRIYRA % THE=HTHS H&h i daR
1 YRS Y i 2

(A) &g =aE (B) fl.wH. g
(C) Torg (D) it e

Choose the correct option to fill in the blank in the statement given below.

According to Permanent settlement system, company considered villages within
one formed one

(A) Ryot, Zamindari
(B) Ryot, Revenue estate
(C) Zamindari, Revenue estate

(D) Revenue estate, Jotedar

= fou T = | R T 6t g ok fore w@t foere 1 =A s

ST Sigled H shal o fede | Teh & T 3T ol Tia THeTeRt Teh
HET A A B

(A) [, St

(B) A, TS HUS

(C) STHIGRI, USTE HUe|

(D) TSI G, SdaR

141-HIS 13



18.

19.

Which of the following statement is true with regard to Paharias during British
Era?

(A) Paharia Chiefs were very friendly with outsiders.
(B) Paharias were considered savage, primitive and unruly.
(C) British officials encouraged Paharias to follow shifting cultivation.

(D) Paharias practiced settled agriculture.

frfafaa @ &M @1 %A siufafies #a % SH weifedl & gaa § e 2
(A) TeIfeat % Hfgan ared wrtl & T fised 3 |

(B) URITSAl Tl 319, ok IR ITGST THEA STl o |

(C) fofewr TR 7 wgifedl =l TUMiaRa %Y o fore greafed fwan

(D) RISt Tt it wid 9 |

Choose the correct option to fill in the blanks in statement given below.

On advice, Gandhiji spent a year travelling around British India,
getting to know the land and its peoples.

(A) Bal Gangadhar Tilak
(B) Bipin Chandra Pal

(©) Lala Lajpat Rai

(D) Gopal Krishna Gokhale

= fou 7T =R | b T &t gfd & fore w@t foerea o1 =m s

S FATE I HETCHT T < Weh oS ook oIl AR h1 TS Y &1 o Al 31T
fH1 1 TS T I HT |

(A) T TR et

o

(B) oIt =ig ared

(C) el dTsTId T

~

(D) TIT9Ted o0 TTREA
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20. Identify which of the following unit had refused to accept new cartridge inearly 1
May during uprising of sepoys in 1857 ?

(A) 7 Awadh Irregular Cavalry
(B) 48th Native Infantry
(C) 7th Awadh Irregular Infantry

(D) 7t Meerut Irregular Cavalry

TS % IR § 1857 % FouEt fage o SR ford Wi A 7 SRqE! 1 STAr i 9o 71
R T ?

(A) 79 7Y STEATT Sherert
(B) 484 Afea kel

(C) 7¢ff sfay el 32hel
(D) 7& TS TR Shaerl

21. Who among the following introduced the Objective Resolution of Indian 1
Constitution ?

(A) Somnath Lahiri

(B) Bhimrao Ambedkar

(C) Jawaharlal Nehru

(D) Sardar Vallabh Bhai Patel

frfefad & 9 Fa SRE HEE S TEE 3 T

(A) T Afeet

(B) HIHE sraget

(C) STl T8&

(D) WER Joaiy |8 4
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22.

23.

24.

25.

SECTION -B

wWs-9

Short answer type questions 6x3=18

-3 U9

(a) Describe any three features of the Earliest States of the sixth century BC.
TS AR 341 Gol o STRI9eh Tl ot fohedl ot fordoranstl <t aof ifsra |

OR/2191aT
(b) Analyse the growth of Magadha as powerful state in Mahajanapadas.
HETSHIEl H Teh Wb I 6 &9 H H71¢ o forehr ol fergeioor =hifsie |

Explain the main teachings of Jainism.

S g 6t @ franed @ =men st |

Describe the main features of the Royal Centre.
TSTehtd Shvs st JHE foRiwaredi o1 gl it |

(a) Analyse the growth of Mughal empire in managing to consolidate power
and resources during the sixteenth and seventeenth centuries.

HicTgdl T Fofed! TIarest o QR §1 Sl ASEd i 3R HHIEH! & Jaod | 7d
T o faerd w1 fagersor sife |

OR/3teran
(b) Analyse the role of women as resource in agrarian society.

FHY Ju™ G H Tk HHIEA % w9 H Afgensti ki fier 1 fageror sifw |
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26. Why is Fifth Report an important archive ? 3

et R weh w@ sfvera i 8 2

27. “The years immediately preceding the making of the Constitution had been 3
exceptionally tumultuous”. Examine the series of events that happened preceding
the making of Constitution.

" dfqem o | T8l % Hiet IRl IYA-JAA Tt A 1" R o el | diaur fafo
Sl qelerd] SIS Skl TH&TT HifSTT |

SECTION-C
s -1
Long Answer type Questions 3x8=24
Sre-swla v

28. (a) “Thereisevidence thatby c.1800 BCE most of the Mature Harappan sitesin 8
regions such as Cholistan had been abandoned”. Examine why the sites were
abandoned in the light of above statement ?

“UH w1e Tiet € FSoh TR TR 1800 $81 T8 ek AT w4 &5l § - STfeehisT
Toefaa gSo Tl sl TR TS 71 o1 17 oA & STclieh § Wil 6l T %
RO T YT i |

OR/37eram

(b) “There are indications of complex decisions being taken and implementedin 8
Harappan society”. Justify the statement.

“TSUE TS H Sfed ThEel o 3R 3% wrifa< s & Hohd fiel 17 A &l
=IIETd 38U |

141-HIS 17



29. (a) How has Ibn Battuta explained prosperity of Indian towns, trade and 8
communication ?

IRATT I, SR IR IR i AT T Il - vl YhR hl § ?

OR/372raT

(b) “Al-Biruni tried to explain the caste system by looking for parallels in other 8
societies”. Examine Al-Biruni’s description of the caste system.

“ AA-TIET = 3T THER | Y&yl ehl WISl oh HILAH § S el Tl 99 3iR%
AT HiH okl JIE R 7 FYT & 3Tk H TA-faet o Sifd-sge<en
Aot o Taeon o1 9iator hifsiy |

30. (a) Explainany five reasons which led to the Dandi March and review any three
factors that make this march notable ? 5+3=8

e} gE W ARY FH F fhgl U= FRUN Skl AT HITTT TS 9 I hI
SEAEHT I o fohl a9 ShIehi bl THIET ShifST |

OR/372raT

(b) How did Mahatma Gandhi emerge as people’s leader. 8

T SH-AT o &9 H e e fohg JehR S ?
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SECTION-D
@ g -9
Source-Based Questions
- ST T9T

31. Read the passage carefully and answer the following questions. 1+2+1=4

The most ancient system yet discovered

About the drains, Mackay noted: “It is certainly the most complete ancient
system as yet discovered.” Every house was connected to the street drains. The
main channels were made of bricks set in mortar and were covered with loose
bricks that could be removed for cleaning. In some cases, limestone was used for
the covers. House drains first emptied into a sump or cesspit into which solid
matter settled while waste water flowed out into the street drains. Very long
drainage channels were provided at intervals with sumps for cleaning. It is a
wonder of archaeology that “little heaps of material, mostly sand, have frequently
been found lying alongside drainage channels, which shows .... that the debris
was not always carted away when the drain was cleared”.

(i) Mackay noted: “It is certainly the most complete ancient system as yet 1
discovered.” What does it signify ?

(ii) What were the materials used to construct drains ?

(iii) Why was it wonder of archaeology ? 1

TS ol TATTYAh UG I T U9 oh ST aifTu |

3T ek WSt T Wrei=ad JoTredt
Tiferi < foma § Hop formd €@ M= 9 9 97 3919 9% TSt T8 99991 9901 Jre
UGt 17 &R ST TTeil i ATl 9 el T o Y& e TR | SME T8 321 9 a4 9
31 35 Ut 321 9 BT T o1 T5T WS o foTl &2 T §eh | 8 TIHl | €l o T
<A1 el shi UfgehT BT FANT fohann 7141 o1 | =R ot Aferdl eel Teh 2idt o1 Helghe W @l
Bt off fre 39 uerel ST 21 S o SR TS1 U el ohi Aiferdl § S8 S of | 9gd ol
Tl H F Aaed R qwE & faw Sfeal s 7 off I8 e F Uk A & ¥ F
“TeT TEAA: X o BIC-Ble & HHe Fehrd! o Al & STIA-aTd I el & Sl @il ...
for el o6l FHTE & 1S HaX ohl THY BT @l STl o1 17
(i) 7 e I8 79 T WISH TE Yrei=ad Jonet 1" sHeRt 1 279 § 2
(i) Tiferi s frafor H for sqadl =61 SRR foran TR o ?
(iii) TIE XA o T TSN i § ?
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32. Read the passage carefully and answer the following questions. 1+2+1=4

Shastras or devotion
“This is a verse composed by Appar, a Nayanar saint :
Orogues who quote the law books,
Of what use are your gotra and kula ?

Just bow to Marperu’s lord (Shiva who resides in Marperu, in Thanjavur, Tamil
Nadu) as your sole refuge”.

(i Who were Nayanars ? 1
(ii) Why did Appar question the law books and use of gotra and kula ? 2
(iii) Who was the sole refugee ? 1

TSI R SATTYE TGehT I T Y91 o ST 1 |
SIS 3T HferT

I B TR AHF TIAR Hd ! A © -

T ¢S ST qH IS 1 3Yd A °

TR T 3R Ft el fhe s 1 2

o

TH el ARG o TorHt (e S qfHerTg o dSTTe fSiet o ARU® 8 &9d € 1) 1 3101
THHATS STTFIGT HFH A B |

(i) "R &ME 9? 1
(i) SR A A | TN fohT 7T Hed o M3 W Felled i fh ? 2
(ii) THATS STTHISTA A & ? 1
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33. Read the passage carefully and answer the following questions. 1+2+1=4
We want removal of our social disabilities

“Dakshayani Velayudhan from Madras, argued: What we want is not all kinds of
safeguards. Itis the moral safeguard which gives protection to the underdogs of
this country.... Irefuse to believe that seventy million Harijans are to be considered
as a minority... what we want is the... immediate removal of our social disabilities.”

(i) Whatkind of safeguard was referred to ? 1

(ii) Why did Dakshayani Velayudhan refuse to believe that seventy million 2
Harijans are to be considered as a minority ?

(iii) What are social disabilities ? 1

3TTIE ohl SATYAh Ugeh U T U1 oh ST IfeIg |

“EH AT ATHTISTeR ALTAATRAT Rl BSTAT =Tad &

AT 1 ST S HT i Sefted off: e el a¥e shi GREMTd -1l =fe | 39 I o HHIRI
Sl T &I 1 e =1, | H I8 el HH Fohdl i 7 U SRS ol SATTHEH
A ST HHATE.... STEHARI R ... TETE® ... SHR TSR STYTAIST SRl B QIeHT |

(i) @l fF9 TR T &M ! 91 I TE T ? 1
(ii) TN FAGUH 7 FUS TRM! ol STeTHEAS FI el A ? 2
(iii) TSI STUTAT 1§ 2 1
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SECTION -E
TS -%
Map Based Questions
AT SI9TeT SR To

34. 34.1 On the given political outline map of India, locate and label the following
with appropriate symbol. 1+1+1=3
R o QU T TSt faes Ya@r-wmtes W FAfafted 1 Suge ol § sifed wifse
3R 3 W fafgu .

(i) Kalibangan - Mature Harappan site
hTcite - Toehfad geun T

(ii) Kausambi- Asokan inscription
IR — Mk 1 AferE

(iii) Calcutta - Centre of revolt of 1857
e - 1857 % a8 #1 %=

OR/ 3@t

Lucknow - Centre of revolt of 1857.

TS - 1857 % ToIgE &1 g

34.2 On the same outline map of India, two places related to the territories of 2
Mughal empire marked as A and B.
Identify them and write their names on the line drawn near them.

IR o ST AFTS | e FHT 9 Hafed QA €ral o6l A 9 B T 790 € | 39!
Jgo hich 3% Sk WHIT Wik T8 W&l W TI0ET |

Note: The following questions are for the Visually Impaired Candidates only in
lieu of Q. No. 34.
e - FeAfeREd Uoa shae giesie reTTeiE o [T W9 G&T 34 o e W E|

A.  Name Any Two Territories under Mughals. 2
e I ok 31efE fRegl <1 & o A fafem )
B. (i) Mention any one place of the centres of revolt of 1857. 1
1857 & fagie @ Heifyd fordt W T o1 9m faf@w)
OR/ et

(ii) Mention any one city of Mahajanapadas.
TEISIE o fohdt Ten 31eX o1 AW fafEm |
C. Name any two major center of Buddhist sites. 2

forl <T@ Silg wrell o =M fafen |
-00o0-
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Map for Q.No. 34.
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